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2. Figures to the right indicate fun *urf.r-"3. Assume suifable-data if required:---*.

SECTION - I
Give the classification of airports as per ICAO
Define the following rerrns:

l) Aeroplane

f] Aimort Capacity
3) Apron
4) Hangers
5) Runway

Explain advanrages and disadv**?* ofAir Transportation.
Enlist Airport surveys and exprain Drainage survey in detair.
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longitudinal section of the runway provides the following 05

Calculate the effective gradient ofthe runway.
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State the factors which affect tfrra"irport CapacityExplain with figwes system of Aircraft parking.

Enlist and exprain the generar requirements in case ofAirport Grading.Write a short note on S*a." O.ii".g..

write a shorr note,on ffiF3il*li*o srate rhe rneasures toovercome the disadvantages of-conning of wheels.Draw the cross section oiprrto*.;t;"y and define track capacity.Find the weight ofthe raiilection ira"-u"r" load is 30 ton.
OR
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Que' - 4 A A transition curve is to be used to join the ends of a 3.94o circular curye
with thg straight. The length of the transition curve is 150 m. Workout
the shift and offsets at every 30m interval. How *iff y"" set thistransition curve?
Give the classification of crossings.
write the function of Marshalling yard and passenger yard

classis -thg signals according to- their functional and operational
characteristics. Also vw,ite the use of each signal.
Explain the f:ollowing failures with neat sketch also write theirpreventive measures.

1. Roaring ofrails
2. Kinks in rails

'Que. - 5 A write a shorr nore on mainrenance?l r*r*u, back.
B Explain the following failures with neat sketch also

preventive measures.
l. tXogged Rails
2. Buckling of Rails

Que. - 6 ANSWEWR TIIE F'OLLOWING
A wrife the advantages and disadvantages of wooden sleepers.
B Define: whad dolphins and jetty.
C Explain br,eakwaters in detail.
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